Kellerraum
4.05mx3.93m
15.92 m?

=

2.19mx3.62m
7.93 m?

Keller
70,93 m?

4.26 m?

Flur
1.49 mx 2.86 m

Anschlussraum
2.87mx2.93m

8.41 m?

O

2.70mx 1.80m
3.91 m?

Kellerraum

411 mx4.22 m
17.34 m?

»

Kellerraum

2.86 mx 4.60m
13,16 m#

2.18nx1.73m
3.81 m?

Raum 3
4,14 m x 4.40 m

ig.22 m®

Raum 4
3.97 mx4.08 m

16.20

) m?

] +
4

.\\H.um mx2.86m" Raum 2

3.78 m?

2.87mx2.25m

Raum
2.90 m x 3.06 m

Erdgeschoss
74,43 m?

Raum 8
4.17 mx 3.14 m

13.09 m?

50 %

4,17m x 1.14 m

Flur
2.39 m x 2.60 m

6.21 m?*

Raum 7
4.26 mx4.45m

18196 m#

" 1.97%2.37

ll@ 4.67m?

50%

0.50m x 1.97m

Dachgeschoss
64.72 m?

MDO.. 49m?

Raum 6
2.63 mx4.03m

10.60 m?

A

4.03 mx0.95m = 3.83m?
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0

Raum 5

50
3 x 1.00




